EARAROBEEIERT — 2 N— IBISH —F

2017848128 (k) 1E#AHE3H

Gl Y 7% —fx C2/7\A

‘ [Rfg] 2 ‘ [FEERR] — | 4 (&) 12000 &=

[A~&£] 1 7% :1,000,000  ~ 23 :350,000 ™ 37 :200,000H™

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< AR5 116. -8~ . — WRE (iE)
17| Tvsxo4—1L R 1(1_6)2 $EE 95 ° (4_216) s
RV RYIYRIR BV —XTLAR =iis
— . 4 5 | BEHEI—ER 1:16.2 7-7-6 | 40.0| — 2 472 | fEEETEAS ()1106)
217|9 | PRF—TT 41—~ 56.0 (747 L5 |BEBUH
R:g4XS 0 ML B byLRE— FE R
s ¢ 6 | FHEFA 1:16.2 3-5-3 40.3| — 7 502 | FEAEE (A
3 &N 3 Hr~<HPIN— FF— * 56.0 (74%) -11) JO—/Ny—EZ (#)
LHISTLIFL N BT TUAIN— hF— NE Bk
. . FHfE— : —1- — RHBEE ()
411 |7ARU=LF it 6 e 1.(147).1 2-1-1 | 41.8 8 (5:)33; B
a4 x> v b BiT4—d—F chEEsIE
LT . 4 5 | SEHEK 1:17.4 4-4-4 | M15| — 1 452 | FHIBEE (fRfE)
5181177V o714~ 6.0 (1 1/2) o |EEEY
g1 )= B TYUyIvAT BR&HH 77Uy INnNL—
s N A= 7. -9~ . — 1EEERL (MiE)
6 2 2 ALZINT A TIL 4 8 = 1(31/74)6 10-9-9 | 40.3 1 (4_937) e
RN=VIF4 BANE—F(T1T HET7— L
- R 4 | KHEZ 1:17.9 1-2-2 26| — 6 409 | FHBE (IfB)
718|10| VT 1>k 54.0 (1 1/2) +2) (F) J PN
ST w P TNRTy b BN LT HBT7—L
T o4 | BmEY 1:17.9 5-6-7 [41.8| — 4 479 | NIKISPE G0
gl5ls| NES Ry TH> 56.0 () Gy | ) K
LENTITFANRT S Biax/ I Tz Xim #E
B4 | ML 1:18.4 6-3-5 |42.5| — 9 424 | B (fAE)
9 4 7UF X 54.0 (2 1/2) +2) EHER )
T4 =TZAh4 B:T1Tr794—Fz H—L—+ JvIN> - Ty—LBERS
: f 5 | RiEEA 1:18.5 8-11-11 | 41.0| — 10 | 430 |Jl#tspS (GEf0)
10/ 8| ME/FLALE 5.0 (/) o | ) xERE
LENTITFANRTE BAORNSIZA M- A BE
N AHIES : -10- — MRE (fafg)
1 6| V1TNKy U2 it 6 e (za% 11-10-10 | 44.5 3 <4+431) ﬁ%aa;;'a
R:Mr. Greeley B:Z2F74—D>F%Fy -2 #HREHE /-2
® I —F—@EBIERL
13—7+—
20—F— 10,1,3,11,5,4,9,8,7,2,6
30—7+— 1,10,4,11,3,5,9,7,2,6,8
40—+ — 1,10,3,11,4,9,5,7,2,6,8
[ N3
B OB 7 830H 714K 7-9 850M % E 6-7 710M 3EHE 3-7-9 16,780H
8 B 7 240M 3-7 2,500 B 6-7 1,190 K31 7-9-3 106, 1504
9 1704 3-9 1,610 B E 7-9 2,430
3 660M B H 7-9 5,100/

ABICOVWTRDTEEERROODE. TR LIV,




